Eratosthenes Quiz Result Analysis

7 students answered all questions 7/7. Congratulations!
8 students answered 6/7 questions!
The general winner is Italy!
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Most correct answers (27) was to this question;

If we place one car (assuming that the approximate length of a car is 4m) behind another
along the Earth's circumference we will end up using

27 / 34 totna odgovora

1 million cars —4 (11,8 %)
100 million cars —1(2,9%)
1 billion cars L7 (5.9 %)




Least number of correct answers was to this question:

If | place a 1m stick at two different locations on the same latitude then

19 / 33 totna odgovora

they will have the same shadow
length at local noon measured —4 (12,1 %)
only on 20th of March
they will have the same shadow
length at local noon measured on 7 (21,2 %)
the same day

 they will have the difierent
measured on the same day
they will have different shadow
length at local noon depending —3 (9,1 %)
on their longitude|
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